Model with Rigid Prices

Pascal Michaillat https://pascalmichaillat.org/c2/

Definition of ngid ma . Price that move in direction of flexible price (bargained price) but less than it Rigid - pria nom P - [X & V] 6 Po

- Ray Janameter

As garameter will 6 € [0, 1) . 5 = 0: pria , stand, pm = po - 0 - 1 . . prie « pleaible ρο = (1-p) ^{ε-1}

[1-p) ε-1

[1-p] ε-1

[1-Comparat un pratics. Stat I nom Adulian equation $\frac{x^{2}}{\left[1+7\mu\right]} = \frac{y^{2}(x)}{\left[1+7\mu\right]} = \frac{y^{2$

 $\begin{bmatrix} \times \frac{2}{5} & \gamma \\ h \end{bmatrix} \cdot \begin{bmatrix} \times \frac{2}{5} & \gamma \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi) & (\pi) & (\pi) \\ h \end{bmatrix} = \begin{bmatrix} (\pi) & (\pi$ Same definition of n as w/ fixed price po except la exponent 17,1-6>0 -> (an paraline statics w) nigid price are some as w/ liand price -> But effects are attenuated eladicity of tylines wat x, p, k is (1-6) x elasticity under fixed price. [-1 [1+ 2 (x)] [1+ 2 (x)] [-1 2 W/AST / 2 XW